Van Seat Frame and Mounting Hardware
9/1/02 - 7/13/03

Note: Seat post can be found on the base frame assembly page.

e \\\
e \
/ |
/ S
S
r( /,/ \\
\ 7 \
/i\\ ///,
.
/o \
/o \
N
~/ \
Van seat shown for \
reference only. \ \
] |
| J
VA
N AL
(N AT
Y \ e DNy
os | - ~
Vo -
© ol 7 \\
L\ - ~
.\m | B
A\\'\\ LL(\\ -
(= y /7
N N -
AN T R 7 s
\\fé\ ™~ 7 =
N N A
\1531 N /;//’
™ Y L TN
. k/; ~ |2/)
4 ~—
— P B S k4
(' 3 A T Positioning strap shown
Y ri‘\k <. 2] for reference only.See
S 2 miscellaneous accessories.
N P
. 2 /\ p
(,«A\ ¢ l P
3) L3 g
7
(/ g 4\\ ,//; = \; > -
L AN~ D NN
e e Van seat frame
o~ Vol TN
B g g shown for
& reference only.
e

\\@* < N

79 NOTE: Plug Buttons are used only when
N the Footboard Assembly is not present.




Note: Seat post can be found on the base frame assembly page.

9/1/02 - 7/13/03

Van Seat Frame and Mounting Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 C 1113656-NLA | NLA - Frame, Van Seat, Black 1 1
1 D 1114349 Frame, Van Seat, Black 1 1
2 1026900 Washer (1/4 x 23/32 x 1/16") 1 6
3 1025713-NLA | NLA - Screw, Hex Head (1/4-20 x 1") 1 4
4 1114911-NLA | NLA - Knob, Adjustment, Black (5/16-18 x 1-1/2") 1 1
5 C 1114998-NLA | NLA - Knob Assembly, Black (3/8-16 x 9-1/4") 1 1
5 D 1114999-NLA | NLA - Knob Assembly, Black (3/8-16 x 10-1/4") 1 1
6 1088897-NLA | NLA - Screw, Hex Head w/ Patch (1/4-20 x 1-1/4") 1 2
7 1108410 Spacer (1/4 x 5/8 x 1/4") 1 2
8 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
9 1109472-NLA | NLA - Screw, Hex Head w/Patch (1/4-20 x 2-1/2") 1 2
10 1029501 Plug Button, Black (1") 1 2
11 AC 1114794 Hardware, Van Seat Mounting w/ Plug Buttons 1 1
11 B,C 1114795-NLA | NLA - Hardware, Van Seat Mounting w/ Plug 1 1
Buttons
11 AD 1114792-NLA | NLA - Hardware, Wide Van Seat Mounting w/ Plug 1 1
Buttons
11 B,D 1114793 Hardware, Wide Van Seat Mounting w/o Plug 1 1
Buttons
12 1113691-NLA | NLA - Bracket, Center Post, Black 1 1
NOTE: - Includes items 2-10

o0 m>

- Includes items 2-9
- 18" Wide Seat
- 20" Wide Seat




